=t — IR FER (ax+by+cz=d)

W44

: 4x— S5y —5z=-38

6x+ 5y +2z=94
3x—1ly—3z=-6

=1y +22=53

3x+3y—3z=27
3x— ly+ 5z =47

6x— 2y +4z =30
3x+2y+4z=752
6x— Sy —6z=-71

6.

H #A:

Sx—1ly+4z=35
2x+3y—2z=9
Sx—5y+3z=-1

3x+6y—3z=24
4x+ 4y +4z = 64
3x—1y+3z=24

2x+2y—6z=-28
2x—4y —2z=-8
Sx—1ly—4z=6
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E B

=t — IR FER (ax+by+cz=d)

G2

: 4x— 5y —5z =38

6x+ 5y +2z=94
3x—1ly—3z=-6

N =
I
0 O\ oo

- ly+2z=353

3x+3y—3z=27
3x— 1y+5z=47

N =
I
N3

> 6x— 2y +4z =30
3x+2y+4z=752
6x— Sy —6z=-71

N =
I
CIES i

H 1.

S5x—1y+4z=35
2x+3y—2z=9
S5x=5y+3z=-1

S
I
C BN S}

3x+6y—3z=24
dx+4y+4z=64
3x—1y+3z=24

N X
I
N o\ W

2x+ 2y —6z=-28

2x—4y—2z=-8

Sx—1ly—4z=6
x=28
y=2
z=28
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